
POCKET REMOTE
MODEL: S1850, S1851, S1880, S1881

INSTRUCTIONS SHEET PAGE: 1 of 7

INS-825-REM
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R2Last update: February 17, 2025

A

C + D

MINIPOCKET
S1850-FW
S1851-FW

E

 in
mm]

1.81"
(46mm)

0.98"
(24.8mm)

1.77"
(45mm)

0.82"
(20.8mm)

WALL

FIXTURE

FIXTURE BASE

FLAT
SCREWDRIVER

B

CLICK

TO POWER 
CLASS 2

SURFACE INSTALLATION WITH FIXTURE WHIP TO REMOTE DRIVER (FW-REM)

IMPORTANT - READ CAREFULLY BEFORE INSTALLING FIXTURE. RETAIN THESE INSTRUCTIONS FOR FUTURE REFERENCE. 
THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE WITH THE NATIONAL ELECTRICAL CODE AND ALL APPLICABLE LOCAL CODES, BY A PERSON FAMILIAR WITH THE 
CONSTRUCTION AND OPERATION OF THE PRODUCT, AND THE HAZARDS INVOLVED.

 DISCONNECT THE MAIN LINE BEFORE WIRING SECONDARY CONNECTORS.

A- PREPARE INSTALLATION SURFACE (SEE DIMENSIONS BELOW). DRILL HOLES FOR TO THE FIXTURE BASE AND CABLE.
B- UNCLIP THE BASE FROM THE FIXTURE WITH A FLAT SCREWDRIVER.
C- SECURE THE BASE TO THE SURFACE USING APPROPRIATE ANCHORS AND SCREWS (2 X #8, NOT INCLUDED).
D- PASS THE WIRE TO THE REMOTE POWER CLASS 2 (NOT INCLUDED). CLIP THE FIXTURE TO THE BASE.
E- MAKE WIRE CONNECTIONS, RED (+), BLACK (-), TO THE REMOTE POWER CLASS 2 USING TWIST CONNECTORS (NOT INCLUDED).

LED +
LED -

RED
BLACK

#8 SCREWS
(NOT INCLUDED)

FIXTURE
BASE

CONNECTIONS TO
REMOTE POWER CLASS 2

UPUP
Cable entry

Make sure to place the fixture 
base in the correct orientation

FIXTURE

FIXTURE



POCKET REMOTE
MODEL: S1850, S1851, S1880, S1881

INSTRUCTIONS SHEET PAGE: 2 of 7

INS-825-REM
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R2Last update: February 17, 2025

A- INSTALL THE MOUNTING PLATE ON THE JUNCTION BOX USING 2 PAN SCREWS #8-32 (NOT INCLUDED)
B- UNCLIP THE BASE FROM THE FIXTURE WITH A FLAT SCREWDRIVER.
C- FASTEN THE BASE ON THE MOUNTING PLATE USING 2 PHILLIPS SCREWS (INCLUDED).
D- MAKE WIRE CONNECTIONS, RED (+), BLACK (-), USING WATERTIGHT TWIST CONNECTORS (NOT INCLUDED).
 ONCE CONNECTED, PUSH THE WIRES BACK INTO THE JUNCTION BOX.
E- CLIP THE FIXTURE TO THE BASE.

C + D E

A

JUNCTION
BOX

MINI POCKET
S1850-JB
S1851-JB

#8-32 SCREWS 
(NOT INCLUDED)

WALL

MOUNTING
PLATE

B

MOUNTING
PLATE

WALL

WATERTIGHT
TWIST CONNECTORS
(NOT INCLUDED)

PHILLIPS
SCREWS
(INCLUDED)

MOUNTING
PLATE

FIXTURE
BASE

WALL

CLICK

4" JUNCTION BOX INSTALLATION WITH REMOTE DRIVER (JB-REM)

LED +
LED -

RED
BLACK

FIXTURE BASE

FIXTURE 

FLAT
SCREWDRIVER

UPUP

LABEL

SIDE UP

SIDE UP

LABEL

Make sure to align the label 
with the arrow engraved on 
the fixture base

FIXTURE



POCKET REMOTE
MODEL: S1850, S1851, S1880, S1881

INSTRUCTIONS SHEET PAGE: 3 of 7

INS-825-REM
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R2Last update: February 17, 2025

A

C + D

POCKET LONG
S1880-FW
S1881-FW

WALL

B

SURFACE INSTALLATION WITH FIXTURE WHIP TO REMOTE DRIVER (FW-REM)

A- PREPARE INSTALLATION SURFACE (SEE DIMENSIONS BELOW). DRILL HOLES FOR TO FIXTURE BASE AND CABLE.
B- UNCLIP THE BASE FROM THE FIXTURE WITH A FLAT SCREWDRIVER.
C- SECURE THE BASE TO THE SURFACE USING APPROPRIATE ANCHORS AND SCREWS (3 X #8, NOT INCLUDED).
D- PASS THE WIRE TO  THE REMOTE POWER CLASS 2 (NOT INCLUDED). CLIP THE FIXTURE TO THE BASE.
E- MAKE WIRE CONNECTIONS, RED (+), BLACK (-), TO THE REMOTE POWER CLASS 2 USING TWIST CONNECTORS (NOT INCLUDED).

LED +
LED -

RED
BLACK

6.50"
(165mm)

6.93"
(176mm)

2.36"
(60mm)

4.25"
(108mm)

13.38"
(340mm)

1.73"
(44mm)

UP

FLAT
SCREWDRIVER

FIXTURE

FIXTURE BASE
Cable entry

SIDE UP

LABEL

WALL

CLICK
FIXTURE

#8 SCREWS
(NOT INCLUDED)

TO POWER
CLASS 2

LABEL

SIDE UP

Make sure to follow 
the orientation of the label

E

FIXTURE

CONNECTIONS TO 
REMOTE POWER CLASS 2

FIXTURE BASE



POCKET REMOTE
MODEL: S1850, S1851, S1880, S1881

INSTRUCTIONS SHEET PAGE: 4 of 7

INS-825-REM
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R2Last update: February 17, 2025

A- INSTALL THE CROSSBAR ON THE JUNCTION BOX USING 2 PAN SCREWS #8-32. (NOT INCLUDED)
B- INSTALL THE MOUNTING PLATE ON THE CROSSBAR USING 2 PHILLIPS SCREWS. (INCLUDED). 
 USE 2 REINFORCEMENT SCREWS IF NECESSARY.
C- UNCLIP THE BASE FROM THE FIXTURE WITH A FLAT SCREWDRIVER.

C

A

POCKET LONG
S1880-JB
S1881-JB

WALL

4" JUNCTION BOX INSTALLATION WITH REMOTE DRIVER (JB-REM)

B

CROSSBAR ALIGNMENT

JUNCTION
BOX

RENFORCEMENT 
SCREW HOLE, 
IF NEEDED
(SCREW NOT 
INCLUDED,MAX #10)

#8-32 SCREWS
(NOT INCLUDED)

FLAT
SCREWDRIVER

CROSSBAR

FIXTURE BASE

FIXTURE

Cable entry

13.38"
(340mm)

6.50"
(165mm)

6.93"
(176mm)

4.25"
(108mm)

1.73"
(44mm)

UP

UP

2.36"
(60mm)

LABEL

LABEL

Make sure to follow 
the orientation of the label

MOUNTING
PLATE

SIDE UP

PHILLIPS
SCREWS
(INCLUDED)

RENFORCEMENT 
SCREW HOLE



POCKET REMOTE
MODEL: S1850, S1851, S1880, S1881

INSTRUCTIONS SHEET PAGE: 5 of 7

INS-825-REM
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R2Last update: February 17, 2025

D

4" JUNCTION BOX INSTALLATION WITH REMOTE DRIVER (JB-REM)

D- FIX THE BASE ON THE MOUNTING PLATE USING 3 PHILLIPS SCREWS (INCLUDED) AND MAKE WIRES CONNECTIONS, RED (+), BLACK (-),  
 USING WATERTIGHT TWIST CONNECTORS (NOT INCLUDED), ONCE CONNECTED, PUSH THE WIRES BACK INTO THE JUNCTION BOX.
E- CLIP THE FIXTURE TO THE BASE.

E

PHILLIPS
SCREWS
(INCLUDED)

WALL

WATERTIGHT TWIST
CONNECTORS
(NOT INCLUDED)

LED +
LED -

RED
BLACK

WALL

CLICK

MOUNTING
PLATE

FIXTURE

FIXTURE

Make sure to properly 
align the labels

Cable entry

6.50"
(165mm)

6.93"
(176mm)

UP

4.5"
(114mm)

TO POWER
CLASS 2

SIDE UP

SIDE UP

LABELS

SIDE UP

FIXTURE BASE

15.4"
(390mm)

19"
(492mm)



INS-825-REM
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R2Last update: February 17, 2025

POCKET REMOTE
MODEL: S1850, S1851, S1880, S1881

INSTRUCTIONS SHEET PAGE: 6 of 7

A- INSTALL THE MOUNTING PLATE ON THE JUNCTION BOX USING 2 X #6-32 PHILLIPS SCREWS (INCLUDED). 
 USE 2 REINFORCEMENT SCREWS IF NECESSARY.
B- UNCLIP THE BASE FROM THE FIXTURE WITH A FLAT SCREWDRIVER.

B

A

POCKET LONG
S1880-J2
S1881-J2

J2 JUNCTION BOX INSTALLATION WITH REMOTE DRIVER (J2-REM)

FLAT
SCREWDRIVER

FIXTURE BASE

FIXTURE

Cable entry

13.38"
(340mm)

6.50"
(165mm)

6.93"
(176mm)

4.25"
(108mm)

1.73"
(44mm)

UP

2.36"
(60mm)

LABEL

Make sure to follow 
the orientation of the label

RENFORCEMENT SCREW
HOLE, IF NEEDED
(SCREW NOT INCLUDED,
MAX #10)

LABEL

MOUNTING
PLATE

JUNCTION BOX

WALL

#6-32 SCREWS
(INCLUDED)

THIS SIDE UP

THIS SIDE UP

RENFORCEMENT 
SCREW HOLE



INS-825-REM
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R2Last update: February 17, 2025

POCKET REMOTE
MODEL: S1850, S1851, S1880, S1881

INSTRUCTIONS SHEET PAGE: 7 of 7

C

J2 JUNCTION BOX INSTALLATION WITH REMOTE DRIVER (J2-REM)

C- FIX THE BASE ON THE MOUNTING PLATE USING 3 PHILLIPS SCREWS (INCLUDED) AND MAKE WIRES CONNECTIONS, RED (+), BLACK (-),  
 USING WATERTIGHT TWIST CONNECTORS (NOT INCLUDED), ONCE CONNECTED, PUSH THE WIRES BACK INTO THE JUNCTION BOX.
D- CLIP THE FIXTURE TO THE BASE.

D

PHILLIPS
SCREWS
(INCLUDED)

WALL

WATERTIGHT TWIST
CONNECTORS
(NOT INCLUDED)

LED +
LED -

RED
BLACK

Cable entry

6.50"
(165mm)

6.93"
(176mm)

THIS SIDE UP

UP

WALL

CLICK

MOUNTING
PLATE

FIXTURE

FIXTURE

Make sure to properly 
align the labels

19"
(492mm)

2.5"
(53mm)

THIS SIDE UP

TO POWER
CLASS 2

SIDE UP

LABELS

FIXTURE BASE

15.4"
(390mm)


